I 1} /> A e =3
=2 BYEDELIENIT: (»—7)  R5/3/8
Wi | K 4 | #& |out| N | & |Hoc|NET| 7 %
1 P XEi5 FE 40 | 6 | 34 B &iBG
2 &=H R FE 37| 2 | 35 B, EGS
3 | WL EXE | R 45 | 10 | 35 31
4 £ B | EHKR 41 5 36
5 Wik RE L 45 | 9 | 36 Syx—8
6 o B2 EE 46 | 10 | 36
7 NN oS EE 36 | -1 | 37 BHBG
8 0O = MR 37 0 37
9 EO VPZXF | EK 44 7 37
10 WH SF [ PR 40 | 2 | 38 v —8
11 ZI IF8 FE 45 | 7 | 38
12 Ralll & EE 50 | 12 | 38
13 B0 #HF | EEK 51 | 13 | 38
14 FEER EE EE 40 | 1 39
15 TS TS 42 | 3 139 Ivy¥—E
16 # Bia MR 441 5 | 39
17 A+ #hs EE 42 1 1 41
18 | A+m £ | AE 43 | 2 | 41
19 | 8 F AFEF | EHK 45 1 4 | 41
20 Al E= HE 46 | 5 | 41 D |
21 M X | #Eenl 47 6 | 41 HO3
22 | g YHF | BB 50 | 9 [ 41
23 |AtE EEF| FE 46 | 4 | 42
24 R EE 49 1 7 | 42
25 BE Ei HE 54 | 12 [ 42 Sv¥—8
26 HE =2 FE 43 | O | 43
27 EE A EE 52 | 9 | 43
28 | SMEF GEEF | LMK 53 | 10 | 43 ELd8
29 HEER B+ EE 55 | 12 | 43
30 EFEEE HE 48 | 4 | 44 SvEx—8
31 g A | figfrl 51 6 | 45
32 Vg 8 EE 55 | 10 [ 45
33 IR BF =} 63 | 18 | 45
34 ik K2 EE 52 | 6 | 46
39 =EH f# HE 64 | 18 [ 46 Syi—8
36 L BF FE 52 | 5 | 47
37 JINIA BF EE 56 | 8 [ 48
38 FE R EE 61 | 13 | 48
39 WHE &K | fEfErl 62 | 14 | 48
40 | 27 FEF | TEE 69 | 18 | 51 BB
41 ek 2= | Al 53 | 1 52
=7 X BX | EHAK 40 HO3, HO9
#—72 #H BE | bR 40

% EGS5[E5&FK—ILTI—JIVE




